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11.

INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/ questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ . @ @ If (B) is correct answer.

There are 75 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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ECONOMICS - III

IR - I11

The demand function for a commodity is
given below :

Q=f([P,Pr,Y,T)

Which factors are considered as
determinant ?

(a) Price of the commodity

(b)  Prices of related commodities
(o) income

(d) Taste of the consumers
Codes :

(A) (a) and (b)

(B) (b)and (9

(©  (®), (c) and (d)

(D) (@), (b), (c) and (d)

Which are the feature of collusive
oligopoly ?
(a)  Firms join together as a single unit

(b) Maximising the profits
(c) Negotiate to share the market

(d)  One firm acts as price leader

Codes :

(A) (a) and (b)

(B) (b) and ()

(©)  (a), (b) and (c)
(D) @), (@), (c) and (d)

1.

T a5 1 HIT-Ter A9 fee gan

Q=f(P,Pr,Y,T)
I & ek ) Frefter e S ?

(@) argaﬁaﬁna

(b) Heiftq awg =t A
() &3

(d) Ui w EY

(A) (a) &R (b)

(B) (b) 3R (c)

© (), () &R (9)
(D) (@), (b), (c) ¥R (d)

W hue el srewfeR ® s

??

(a) ﬁ@m%mﬁwmagg

ik ‘

(b) N = Afray T

() SR % feed %0 wwghhr|

(d) T % %4 9 F ®9 8 w1 w5
®

%< :

(A) (a) 3R (b)

(B) (b) 3R ()

© (), () *R (o)

(D) (@), (b), (c) &R (q)
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The negatively sloping segment of an
isoproduct curve suggests that :

(A) MP of both the factors is positive

(B) MP of factor X is positive and MP
of factor Y is negative

(C) MP of factor X is negative and MP
of factor Y is positive

(D) MP of both the factors is negative

Which is called shift in demand to the left
side ?

(A) Extension of demand

(B) Contraction of demand

(C) Increase in demand

(D) Decrease in demand

3.

SRS oIk 1 HOIT TTe[al B QR
gfE:

(A) 3 FRHI H MP HATH §

(B) &R X Wl MP ¥ATHe® T HRF Y
1 RO ®

(C) Rk X I MP FUTHEF a1 FH Y
T YATHF &

(D) 2 HRH! FH MP FOTEF ©

SR SR, ThT § € IRk Y 1 hed € 2

(A) Wi % faemR
(B) W I Hepe
© wmAgfs

(D) Wi H wH
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As per the Mundell - Fleming model,
which of the following statements are

correct ?

(@) Under fixed exchange rate and
perfect capital mobility monetary
policy is ineffective

(b) Under fixed exchange rate and
perfect capital mobility fiscal policy
is effective

() Under flexible exchange rate and
perfect capital mobility monetary
policy is ineffective

(d) Under flexible exchange rate and
perfect capital mobility fiscal policy
is ineffective

Codes :

(A) (@), (b), () and (d)
(B) (a), (b) and (d) only
(C) (9 and (d) only
(D) (b) and (c) only

Determinants of money supply is/are

(a) High powered money
(b) Money multiplier
Codes :

(A) () only
() (b) only

(C) Both (a) and (b)

(D) Neither (a) nor (b)

8.

Hee-wif tiea & garee, = # w9
o H T §?

(a) frm fafrea o st weqol €S
i % 1A ge1 Afa gurEEE
AT

(b) T e o e ol oft wiicrefterar
Y e i grereie 2 2

(© e fafma et "ol 4
Terefierar 2 i gEES et 2 |

() e fafra it Tl g
Tfrefieran ¥ TsrehTs A STEE e
€

(A) (a), (b), () ¥R (d)
A (a), (b) 3 (d)
Fed (0) 3R (d)

(D) e (b) 3 (0)

Glic

o gt 3 Frefe /% -

(a) A Sl o
(b) T BT

E TR

(A) FA (a)

(B) Fa (b)

Q) (a) ¥ (b) S
(D) AT (a) 7 (b)
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10. Match the items in List - I with  10. et - I Geit - I1 ¥ femy

List - IT :

List -1

(@) Mundell-Fleming (i)
Model

(b) M, concept of (ii)
money supply

(©) Multiplier (iii)

(d) M, concept (iv)
of money supply

Codes :

@ (b)) () (d

(A) ®
B @O (@
©) (W)

(D) () (i)

) ) @)

@) @ 6

(i) @)

- List-1II

Extension of
IS-LM model to
open economy

Broad money

R.F. Kahn

Narrow
money

(iif) (i)

(a)

(b)

SR

HeA@-®HT ()
Arsa

Tl A BT (i)
M, T4

@ ) ()
@ O @ G
® @ @ @)
© () @) G

(D) Gv) () (i)

et - 11
el afiFIS-LM
Hisd 1 faar

forega g

(d)

(i)

(iv)

()
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18.

19.

Assertion (A) :

An important thesis propounded by
prebisch pointed out the deterioration in
terms of trade of primary producing
underdeveloped countries.

Reason (R) :

According to Engel’s law of consumption
as income rises the proportion of it spent
on food falls while that on manufactures
increases.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).
Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).
Both (A) and (R) are bwrong.

(A) is correct, but (R) is wrong.

(B)

©)
(D)

Assertion (A) :

According to Lewis in underdeveloped
countries an unlimited supply of labour
is available at a subsistence wage.
Reason (R) :

According to dependency theory the
dependence of less developed countries
on developed countries is the main cause
of underdevelopment of less developed
countries.

Codes :

(A) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).
Both (A) and (R) are correct, but (R)
is the correct explanation of (A).
Both (A) and (R) are wrong.

(A) is correct but (R) is wrong.

(B)

©)
(D)

18.

19.

(D)

SR (A)

STeq Toerfaa A % Y& SURH o S
e § weferm g wiawfea fagia & SR
T qrl SR B

I (R) :

T % S % FEEER, E d 9fs &
HRO G T W TR S A
firan & w8 foF € W U ST e ¢ |

HE
(A) (A) T (R) 3 & ¥ 3 (R), (A)
T T T ¥

(A) T (R) B W € TG (R), (A)
F TE AT T ® |

(A) 71 (R) i T B )

(A) & ¥, T (R) el

(B)

©)
(D)

AR (A)
Sftrm ¥ oTER, seufawia o # FEfE
TGl T AfER 1 eyt st A §

HIOT (R) :

fyofean fagid & STTER %A faewfea 9 =i
ferpfiga i o Freftan &t STt Steq o
Teh & BRI & |

E X
(A) (A) T (R) T @ E 7 (R), (A)
e A& 7 T |

(A) TN (R) S W, T (R), (A)
e A R |

(A) T (R) S e € |

(A) TE & R (R) e €

(B)

©)
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20.

21.

22,

In Marxian theory of surplus value, the 20.

ultimate source of all valueis
(A) equipments
(B) machinery

(C) labour

(D) raw material

Which canon of taxation
propounded by Adam Smith ?

(A) Canon of Equity
(B) Canon of Desirability
(€) Canon of Certainty

(D) Canon of Economy

Which theory of public expenditure is not 22,

given by Findlay Shirras ?
(A) Canon of Benefit
(B) Canon of Sanction
(€) Canon of Economy

(D) Canon of productivity

is not 21.

At % wifedas Fraager 9t |1 %
siftm & §

(A) STHTT
(B) ¥
(C) ™

(D) = I

TeH fHY & gRI A9 1 e o1 fagia
giearfea 72 feran T § 2

(A) wurar 1 fagia

(B) aiztaa = fagia
(C) Tfaaa =1 fagia
(D) Toaeafam 1 fagia

Trvee R & g0 wrdsieh =g % SHE
Tagid & fean T 22

(A) 9 = fagia
(B) Wifa #1 fagia
(@) ﬁqaaxﬁmwﬁm’a

(D) S K fagia

SPACE FOR ROUGH WORK / % &/ & o smig
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23.

24.

Which is the correct implication of the
80™ Constitutional amendment in India
(2000) ?

(A) All central taxes and duties are to
be shared between centre and
states.

(B) All central taxes (except those
referred to articles 268 and 269) are
to be shared between centre and
states.

(€©) Only income tax and union excise
duty proceeds are to be shared
between centre and states.

(D) Status quo would be maintained
after 2000 for 20 years.

What can you say about the following
statements ?

(@) The tax : GDP ratio in India was
about 18% in 1960-61.

(b) The tax : GDP ratio in India was
about 16% in 2012.

Codes :
(A) Both the statements are correct.

(B) Statement (a) is correct and
statement (b) is incorrect.

(C) Both the statements are incorrect.

(D) Statement (a) is incorrect and
statement (b) is correct.

23.

24.

TG H (2000 H) 80 of Wiyam g =5
e fafead s 2

(A) %= 3R T & otg et BT G
3T Y[Rl Bt SR Foma R |

(B) %= iR T & ofta weft Fhg =y
! faam 7% ¢ oTqedg 268 @
269 H ST T ® Wi foen s

(C) ol MR TS el See Yo B
7% TE Tl o weE SR e s

(D) 2000 & g 20 Tl % Femfeefq
(status quo) T SHT W& |

1 e & fawg & og 1 4 2

(@) T :1960-61 H WG & GDP 3
TN 18% o

(b) T : 2012 H YA H GDP 3TId eTs
16% o

%<
(A) 3l o wd §
(B) FUH (a) WEl 3R e (b) Terq ¥

(C) <Nl weF Tora ¥ |
(D) U (a) ToTd B SR HOH (b) T T
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25.

26.

27.

28.

Out of the total liabilities of all state
governments in India, the proportion of
“loans and advances from central

government” was about of
the total by March 2012.

(A) 8%
(B) 15%
(C) 4%
(D) 20%

The solution to the assignment problem

by Robert Mundell is given in the :

(A) Principle of fixed targets

(B) Principle of effective market
classification

(C) The Swan Model

(D) Expansionary fiscal policy

The theory of optimum currency areas

explains a country’s costs and benefits

from :

(A) Using a common currency with
other countries

(B) Joining a fixed exchange rate area

(C) Flexible exchange rate

(D) Therestrictions from other countries

Reciprocal dumping by two countries in
the identical product is :

(A) Very rare

(B) Very common

(C) Notpossible

(D) Banned

25.

26.

27.

28.

IRA H Tt T8 THRI o T SRS Bl
HrE 2012 G Fa1d WER gRI & Tl S
3R 3R STIRM 1 STUN F&T 1 I
o
(A) 8%
(B) 15%
C) 4%
(D) 20%

U HEw R TUEH= HHAIYH 1 &
H fean w1

(A) Traa e = fagia

(B) sl SIS oiffenur st fagra

(C) @™ Hisd
(D) fosga stenry fifa

&1 &7 % gean fagia #i =men § 6 a6
I FH AR R A9 R st
A

(A) TH I Y FEA &I T STEN

(B) fraa fafa < &% 9 =
(C) witen faf e &
(D) TE I 9 gy

Heiq9 STE] 1 | W 5N IERE €9 Y
T fohan S

(A) 9gd HH T ?

(B) dgd T B ¥

(C) T™E 7 B

(D) wfasifer gren €

SPACE FOR ROUGH WORK / T% &Td & fad wg
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29.

30.

31.

Arrange the following forms of economic 29.

integration in ascending order in terms
of their economic integration :

(a) A free trade area

(b) A common market

(¢) A custom union

(d) An economic union

Codes :

(A) (@) (b) () ()

(B)  (d), @) (b) ()
©) (@), () (), (@)
(D) (@) () (b) (d)

Which of the followings are examples of  30.

non-tariff barriers ?

(a) Import Quota

(b) Export Subsidies

() Technical and Administrative
regulations

(d) Dumping

Codes :

(A) (a), (b) and (c) only

(B) (), (c) and (d) only

(©) (@), (b), (c) and (d)

(D) (¢) and (d) only

From which date the Product Patent is 31.

implemented effectively in India ?
(A) 15t January 2005

(B) 15t April 2011

(C) 15t January 2007

(D) 1%t July 2009

Sfefh ThIhT & 39 T i 37h Thihl
% U] H TRIEl i U Hafeqd Hifa |

(2) TR AR &
(b) T R
(c) wEH g
(d) ot g
%<

(A) (a), (b), (9), (d)
(B) (d),(a), (b), (©)
©) (@, (), (b), (a)
(D) (@), (), (b), (d)

e # @ R-uyesw STakiel w1 Qe
-T2

(a) G S

(b) Trafa werr
OIRERICIRCRNICEREREE]

(d) sfET

E TR

(A) Fa (a), (b) 3R ()
(B) % (b), (c) ¥R (d)
© (), (), (o) 3R (d)
(D) e (c) 3R (d)

wRa § fRg fafy @ ‘s 2= guesi
TTA AR A R?
(A) 1 SFeRT 2005
(B) 1 T 2011
(C) 1 sFed 2007

(D) 1 e 2009

SPACE FOR ROUGH WORK / 1% & & &g g
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32.

33.

34.

The M, in India is defined as :
(A) M, +Time deposits of the public
with banks

(B) M, + Time deposits of the public
with banks

(C) M, +Post office saving deposits
(D) M, —Time deposits of the public
with banks

Assertion (A) :

It is possible to control either the money
supply or the rate of interest , but not both.
Reason (R) :

Other things remaining the same, the

demand for money depends inversely on
the rate of interest.

- Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are individually
true and (R) is not the correct
explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

The gilt edged market deals in :
(A) Treasury bills

(B) Government bonds

(C) Both (A) and (B)

(D) None

32.

33.

34.

wRd & M, %1 50 a0 i foran s d
(A) M, +9% F SH@ H1 Wifafuen s

(B) M, +f% | S 1 Gifefees s

(C) M, -+ SR = S0
(D) M, - & a1 Wfafus w91

AfuwaT (A) :

1 S Storen = X i i wen
e § g QI |

IT (R) :

4 IS eruRafda war §, 49 *1 eyl
FhH T ¥ = R Fft wan #)

T
(A) (A) T (R) FafFs @ & § ok
(R), (A) =1 TE =rEm )

(B) (A) T (R) Sl Safei &9 § Ty
€ T (R), (A) ! G e 7 §)

(©) (A) ¥ ® 9 (R) T T
(D) (A) TTd ® W (R) ¥4 B

fire YR 991K :

(A) S facil o1 IR e ¥

(B) WM FSi T AR HI B
(C) (A) T (B) B Y SR T ¥
(D) g off 7

SPACE FOR ROUGH WORK / % & & & snig
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35.

36.

37.

38.

39.

)

‘Find the odd one out :

SAIL
BHEL
ONGC

Rcom

(A)
(B)
©)
(D)

India has emerged in the world as the :
(A)
(B)
©)

Second largest steel producer
Third largest steel producer
Fourth largest steel producer

None of above

Which among the following states is a
leading industrialized state 7

(A) West Bengal

(B) ‘Orissa

(©) Maharashtra

(D) Madhya Pradesh

Golden handshake scheme is associated
with :

(A)
(B)

Inviting foreign companies
Private Investment in public
enterprises

(C) Establishing joint enterprises

(D) Voluntary retirement

The ‘industry having the largest
investment in Indian economy is :

(A)
(B)
©)
(D)

Tea
Cement
Steel
Jute

35.

37.

38.

39.

YA B ATT B ;-
(A) =

(B) wd

(C) FTASLE.
(D) SR %™

IR fava § MA@ IR

(A) TH T oY EA SAH
(B) HU d WY € IARH
(C) e wad s Wiel IARH
(D) SwiE g o T

78 A B T S ST T 2

(A)" df¥=m ST
(®) sfem

(C) Wl
(D) A WeW

(A) Toreft wwafl =t Frem
(B) wresiE SRl H TSt Frr

(C) HIH ITHA il T
(D) == fafa

R erderaeen § wed Afuw faw @
AT :
(A) =™
(B) e
€ T
(D) UM

"SPACE FOR ROUGH WORK / 1% @& & & s
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40. Match the following : 40. frafafea =i faem

(a) Balance of (i) Rakesh (a) YT HeH 3R (i) I HigT
payments Mohan feesft e
& foreign
Investment

(b) Public sector (i) Arjun Sen (b) WS & (i) ST T
enterprise Gupta SYHH T
autonomy:

(¢) Small scale (i) Rangarajan (c) oY Whet I (i) THSH
industries

(d) Infrastructure (iv) Abid (d) EEE (iv) 3ifag gom
development Hussain IEEIL]

Codes : %<
@ ® (© (@ : @ () (9 (d

(4) @ @) @) ) () @ @) @) ()

(B) @) @ @) @) (B) (@) (@) @v) (@)

© @ @ @) @) © @ @) @) @)

D) @ @ (@) (i) D) @ @ @) )

41. As per census 2011, the density of the 41. SFIAT 2011 % STIER, R i SHEE

population in India is : T ©

(A) 382 (A) 382
(B) 385 (B) 385
(C) 360 (C) 360
(D) 342 (D) 342

SPACE FOR ROUGH WORK / 1% &1 & ford smig
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42. 1In second stage of the demographic 42. SHwSE HHAT H T arEe H

transition :

(A) Birth rates and Death rates are high (A) S H @ gg A it Bt 21

(B) Birth rates and Death rates are low (B) = R gg &l =it Bt 2 |

(C) Birth rates is higher than Death (€ == 2 Eel T gy X A 2 2
rates

(D) Birth rates is lower than Death rates (D) S RAN W TY R St Bt 2

43. Which of the following group of  43. frefafaa o @ T srefemferl & g A

economists have given their views on ST TR o SR O 379 foam =
stages of demographic transition ? g 9?

(a) C.P. Blacker @) ¥R =

(b) Tom Snow (b) <THE

() Laundry () @

(d) Thompson and Bogue (d) oTPIEE T S

(e) Mac Suzan (e) e g

Codes : & :

(A) All the above are correct (A) ST T T 7

(B) Only (a), (b) and (c) are correct (B) % (a), (b) T (c) & ¥
(C) Only (a), () and (d) are correct (C) ¥ (a), (c) T (d) T €1
(D) Only (a), (d) and (e) are correct (D) %o (a), (d) T (e) T g
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44.

45.

(a)

(b)

(d)

Assertion (A) :

In India, females have higher life
expectancy than the males.

Réason (R) :

Females receive a better education than
males.

Codes :

(A) Both (A) and (R) are correct

(B) (A) is true but (R) is false

(C) Both (A) and (R) are false

(D) (A) is false but (R) is true

Match the following :

List-I List-II
Optimum (i) Raymond Pearl
population is

that which gives
maximum income
per head
Population (ii) Chandrasekhar
pyramid

Indian beds (iii)
are more fertile

than Indian fields
(iv)

Dalton

Logistic curve Prof. Thompson

theory of and Lewis
population
Codes :
@ G (© (@@
(A) @) (@) @H ()
(B) @) @) @ @
© ) @& @) @@
O) & @ @Gv) ()

44.

45.

(2)

(b)

©

(d)

ATwTT (A)

WA H Torl 6t e gearen gesi ®) qer
B &R R

%I (R) :

feral geel &t o A sy Tt faen
Hdt ¥

%e:

(A) (A) & (R) S w& &)

(B) (A) W& WY (R) T B

© (A) T (R) Il e

(D) (A) T T (R) WEl B

frefafaa 1 gafeaa s .
gat-1 HRt-11
ATHTH SHHEAT () s g
=8I § S ufa st
AYFHaH T YA
HT ]
SHeEn frufrs (i) =FERIER
I MR YRA (i) SR
Wl S ger | SR
SIS B9 B
SHEEN B gfEUE (iv) Wi, 4R
% fagia LERGER |
%

@@ (b) () (d)
(A) @ @b @ (@)
(B) (i)

™) @ O
@) (G
()

© ) @
@) O @ @)
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46. Match the following :
List - I

(@) Types of war (@
Inflation

(b) Inter-generation  (ii)
Fertility Model

List - II

Harvey
Leibenstein

Eastli

(c) Aspiration Theory (iii) A.C. Pigou

(d) Critical Minimum (iv) Backer Tomes

Effort

Codes :

@ ® (o

(a) O @

(B) (v) @) @

©) (@) @) (@

(D) @) @ ()

(d)

(iv)

(i)

)

(iv)

46. Trafafaa =1 faom =X .

(a) <EH 3 IR () ¥ afefafe
TR

(b) mmﬁﬁwﬁ: (i) T

Aied

(c) oIehien (TAfREM) () T
fagia

(d) whifder =JTam (iv) ST TR
PRI

He
@ M () (@

(A) 6 @ @ @)
(B) (1iV) @) @ @
© @@ @Gv @ O

(D) @ @ @) w)
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47,
Set-1

(@) Laffer curve (i)

(b) Philip curve (ii)

(c) Contract curve (iii)

(d) Kuznets curve (iv)

Codes :

(A)
(B)
©)
(D)

©
()

(iv)

@

(iv)

Match the following :

Set-I1

It shows inverse
relationship between
rates of
unemployment and
rates of inflation

It shows relationship
between economic
activities and rate of
taxation

It shows that as an
economy develops,
market forces first
increase than
decrease economic

inequality

It shows the set
of points
representing final
allocation of two
goods between
two people

(d)

47.

gelt-1

(a) THL T

(b) freltg o

(€ HI<FR TH

(d) FH T

(A)
(B)
©) ()

(D) (i)

@

(i)

i

(iv)

(c)
(i)

(iv)

@

(iv)

frefafaa =1 gafaa wifg

e-11

g SSTTR 3R geIfomel
%l U & He Higafda
HaY 9T ¥

g 3Tfefer nfafafy sik
FHOIH H R &F 7Y
ey T &)

I sntdw fammg &
Y, Tl ISR sedl |
gfg i e enfdw
A 4 wH &)
Ui R |

AR % HeA ) g
& offqy e &
= forgail 1 gerfar
?
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48.

49.

The objectives of introducing Land- 48.

Reforms in India are __

(a) To eliminate all forms of

exploitation and social injustice

(b) To provide security to tillers of the
soil

(c) To assure equality status to all
sections of the rural population

(d) To regulise the rent
Codes :

(A) (a) and (b) only
(B) (@), (b) and (c) only
(©) (@), (c) and (d) only
D) (@), ®), © and (@)

Loans under ‘RIDF’ are given for the  49.

following purposes :

(a) Irrigation projects

(b) Watershed management
(c) Construction of rural roads
(d) To pay old debt

Codes :

(A) (a) and (c) only

(B) (b) and (c) only

(©) (a), (b) and () only

(D) (@) (), (¢) and (d)

uRa ¥ * yf-gER’ F AR T H I/ §

(a) @eft TR % T TS AR S
& GHT HET |

(b) T S ot T G F7H HEAT

(c) o SEEn % gl o s WA
feufa wem T

(d) T FrafEa wE
e

(a) fak (a) T (b)

(®) T (a), (b) @ ()
(€ T (), (0 T (@
(D) (), (b), () T (@)

TTefior Sy ferehi S (RIDF) o 3T=RTd
w1 Fire SRl o fere fean < €

(a) o= ufEsmg
(b) TERE T4
() T wewhi & Fwim
(d) T S T A HA

(A) T8%F (a) T (0)
®) fah b) (o
©) fa® (), (b) T (o)
D) (), (b), () T ()

SPACE FOR ROUGH WORK / &% @rd & ol <iTg
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50.

51.

(d)

Match the following : 50.
List - I List - IT
(Item) (Sources)
(a) Short-term (i) Commercial
credit Bank
(by Medium (i) Rural
term credit Development
Bank
(c) Long-term (i) Money lenders
credit
Consumption (iv) Cooperative
credit societies
Codes :
@ b () (@
(4) @ @) @ (@)
(B) @) @) @v) @
© @) O @ @
(D) @) @) @ @
Sources of agricultural credit will be  51.

arranged as per their existence :

(@) Cooperative Credit Societies

(b) Nationalised Commercial Banks
(c) Regional Rural Banks

(@
Codes :

A) @ ®), @) ©
(B) (@) @) (), (©
©) (@), (@), () (b)
D) (©), ®), (), (@)

Money lenders

-1 e - 11
(9g) (=)
(a)  STEUHE( B (1) iR o
(b) TEHEE RO (i) WEO e
EED
() <idweT =W (i) weRH
(d) SUHM @ (iv) HEHRY
gfafer
%<
@@ () (0 (d
(A) @ @ @) (@)
(B) @) @) Gv) (@)
© @) @& @) (i)
(D) @) @Gv) @ (i)
FY W@ & Tl B R AT F w9 o
AT DI :

() HEHR W afafaat
(b) TERR afvfern e
(c) & T Fe

(d) WIS

C TR
(A)
(B)
©
(D)

(d), (b), (a), ()
(d), (@), (b), (c)
(@), (d), (c), (b)
(©), (), @), (d)
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52.

53.

In which sector agriculture plays the
crucial role in Indian economy ?

(A) Contributing share in national

income

(B) Employment providing sector

(C) Contribution to capital formation

(D) Importance in increasing exports
under inter-national trade

What is the nature of Agriculture and
allied sectors in contributing GVA of
India during the period 2011-12 to
2015-16 ?-

(A) Increasing

(B) Decreasing

(C) Irratic or Fluctuating

(D) Constant

52.

53.

e sreferaeen # v fhE & § W=l
oot YfieRt fm R 2

(A) T T H SR feww

(B) SR W& FA el &

(C) sht-Frmior & drTeH

(D) SR R # fraia @ den |

a8 2011-12 ¥ 2015-16 i fafy § IRd &
ere ] ged afda o H i wd et
31 % ANEE w1 W F 7 ?

(A) el gl

(B) el g2

() sifafg T San-=gE 9 I

(D) fexr
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54.

55.

"HYVF” is restricted to the following
crops :

(a) Wheat
(b) Rice

() Soyabean

(d) Sugarcane
Codes :

(A) (a) and (b) only
() (@), () and (c) only
© (@) (b) and () only
D) (@), ®), (c) and (d)

Assertion (A) :

Rural people’s income rises due to
increase in productivity and production
of agriculture.

Reason (R) :

It creates demand for industrial products,
hence, industrial development is boost up.

Codes :

(A) (A) and (R) both are correct but (R)
is not the cause of (A).

(B) (A) and (R) both are correct but (R)
is quite different from (A).

(©) (A) and (R) both are not correct.

(D) (A) is correct but (R) is not correct.

54.

55.

‘HYVP (1 e feen wrfsy) fie
TwEel o Hfa §

(@)

(b) =T

(c) e

(d) TE

HT :

(A) Td (2) T (1)
(B) % (@), (b) T (o)
(©) T (a), (b) T (d)
(D) (a) (b), (c) T (@)

AfUHLT (A) :

IR e W Tt B

HRUT (R) :

TE STENfTE SR Wt Af g e ¥
gHfeTe SiEnfiTeh foehre Y sgran faern ¥
%

(A) (A) 3R (R) 3 W& ¥ foFg (R), (A)
1 TE HRUT TE B |

(B) (A) 3R (R) 3 ¥ ¥ frg (R), (A)
q foega srem (i) &1

(©) (A) 3R (R) 3 W&t 7 &
(D) (A) W& & Ty (R) Wt 7&f R
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56. Match the following :

(@)

(b)

©)

(d)

List-1

HYVS

Protection of
Plant Varieties
and farmers’

)

(i)

Rights legislation

passed

Period 1980-83
to 1990-93 a
turning point in
India’s
agriculture

development

PMJDY

Codes :

(A)

(B)

©)

(D)

@ @® ()

O @ @
™ 6 @
@ @) @

@ (@v) @

(i)

(iv)

(d)

(iv)

(i)

@

(i)

List - 11

TRIPS

G.S. Bhalla

Financial
Inclusion

Norman

Borlaug

(b)

(©)

(d)

(&) @O @

(B)

©)

. ﬁlﬁl’fﬁﬁlﬁ:

el - 1

HYVS

wie e
e e TRam

o AfeeRR |
7g sifufad 9

iy o |
e fog
1980-83 &
1990-93

TETHA
SRSl

@ @® (©
(i)
@v) @ @

@ @) @

(D) @@ @) @

(i) i@ s

i) T
HHEYHA

@iv) T ST

@
@
(i
0

(i)
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57. Assertion (A) :

58.

MGNREGA provides at least 100 days
employment to a rural family in a year
through creating assets.

Reason (R) :

MGNREGA increases the income of the
rural people and it reduces the poverty
in rural areas.

Codes :

(A) Both (A) and (R) are correct but (R)
is not the cause of (A).

(B) (A) and (R) both are not correct.
(©) (A) is not correct but (R) is correct.

(D) (A) is correct but (R) is not correct.

If demand function is
P=100-0.01Q

and cost function is
C = 50Q+ 30000

optimal production level will be :

(@) 50 units

(b) 100 units

() 150 units

(d) 2500 units

Codes :

(A) Only (a) is correct

(B) (a), (b), (c) are correct

(C) Only (c) and (b) are correct

(D) Only (d) is correct

57.

58.

AfERT (A) :

T T U 9RER w9y § gReafEt
1 Fmior w3 g @ w9 100 f F
USFIR YEH Ll T

%RUT (R) :

urror & o frefar <61 w1 et

Fe :
(A) (A) 3R (R) 3 & € R (R), (A)
1 W& HROT 3R e e ¥

(B) (A) 3R (R) S Tt 7 T
©) (A) W& 7 ® fFg (R) & ¥
(D) (A) & & fhg (R) W&l & 1

IS [T Her
P=100-0.01Q

TS AN e
C=50Q+30000 &

STIHATH ScUeT TR BT

(a) 50 TR

(b) 100 3HTE

(c) 150 S

(d) 2500 T

%< :

(A) HTA (a) W&}

(B) (a), (b), (c) W& ¥

(©) Fad (0) W (b) W &

(D) *ad (d) Gdt
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59.

60.

In Input-output analysis
(@) (I-A) must always be positive

(b) diagonal elements of (I-A) should
be positive

(A) (a) must satisfy
(B) (b) must satisfy
(C) (a) and (b) must satisfy

(D) None of the above

In LPP

Maximise Z =50X; +120X,

Subject to 2X; +4X, < 80
3X;+X, = 60

and Xy, X2 0

(@ X;=0 X,=0

(b) X;=0 X,=20

() X;=20 X,=0

(d) X;=20 X,=20

Codes :

(A) (a) is correct

(B) (a), (b), (c) are correct

(C) (b) and (c) are correct

(D) (b) is correct

59.

60.

ey faveror
(@) (I-A) 939 ¥FTH Bl SIfed

(b) (-A) ¥ fowul T w29 G T
wifed

(A) (a) STEETH T T FIE A

(B) (b) 3TE¥TF & A HIE &

©€) (a) T (b) STERTH T F I &
(D) SR H g TE

T TeRAT S

aifieham FIA Z=50X, +120X,
gfdery 22X, +4X, < 80
3X,+X, < 60
R woner g X X, 2 0
(@ X;=0 X,=0

®) X;=0 X,=20

(€ X;=20 X,=0

(d) X;=20 X,=20

e

(A) (@) TEE

(B) (@ ®)©TE

© ()T (T
(D) () WEE
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61.

62.

How many pairs of observations must be 61.

included in a sample in order that an
observed correlation coefficient of value
0.42 shall have a calculated value of t
greater than 2.72 ?

(@) 34
) 35

€ 36

d) 37

Codes :

(A) (a), (b), (c) are correct

(B) (a) and (b) are correct only
(C) (d) is correct only

(D) All the above

Assertion (A) : 62.

Solution of Input - output model does not
contain negative output.

Reason (R) :
Hawkin-Simon condition is fulfilled.
Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) (A) is correct but (R) is not correct.

(C©) Both (A) and (R) are correct but (R)
is incorrect explanation of (A).

(D) (R) is correct but (A) is incorrect.

T ey A fohan staciea g afnfaa
ot s el sTaeiifona Tedsel 0T 0.42
Fhferd t qod 2.72 | ek & ?

@) 34
(b) 35

() 36

d 37

%he

(A) (@, (), wE
(B) % (a) T (b) W €
(C) et (d) T& &

(D) ST O+t

AT (A) :

SET-YST WSS 1 T HOMHS ScAIGh ol
THEY &l |

FHT (R) :
o~ |IEHA g¥nefi 1 gfd Bt B
C TR

(A) (A) 3R (R) T & IR (R), (A)
! GE AT B

(B) (A) W& € g (R) Tt =& ®

(€) (A) 3R (R) T W& ® T (R), (A)
=t TTeld ST B

(D) (R) ¥&l € Y (A) TTord |
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63.

64.

Assertion (A) :

Linear Programming per se can never tell
us anything about the operation of any
part of the economy.

Reason (R) :

Programming is entirely a mathematical
technique.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).
(A) is correct, but (R) is not correct.
Both (A) and (R) are correct but (R)
is incorrect explanation of (A).

(B)
©)

(R) is correct but (A) is incorrect.

(D)

Match the following :

Group-1 Group-1I

aU/3q )
|F| ()

Total utility
Partial
utility

Final

(a)
(b)
(c) dqy/dqy (i)

demand

matrix

(d)y duU (iv) Marginal

rate of

substitution

Codes :
@ ® @ @
i@ @ @)
@ @)
(i) (V)

(iv) @

(A)
(B) @
© @
(D) (i)

63.

64.

ARTRYT (A)
e g stefereedt & fRdl 9r &
TramehaTd % IR T 7Y IS TFHRI el o |

TWT (R) ;
WEHHA YUIEAO] TIOTdTS TR

W:
(A) (A) iR (R) 3T =& ¥ &R (R), (A)
w1 T e R |

(A) & & T (R) TR T R

(A) 3R (R) I T & T (R), (A)
Y TeTd ST B

(R) & & T (A) T B

(B)
©)

(D)

Frefatea = gafeaa =
oty - 1

9U/dq, )
|F| (i)

SOt - 11

T ST
s
EERIRG)|
aifes |
SR

(a)
(b)
(©)

dqg,/dq, (iii)

yfeearaT &l
e X

(d) dU (iv)

e
(a)
(A) (@)
(B) @
© ®
(D) (i)

(d)
(iv)
(i)  (iv)
(iif) (i)
) @

()
(i) (@)
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65. Match the following :
Group - 1 Group - II
(a) Hawkin-Simon (i) Integral calculus
Conditions
(b) Duality (i) Linear
Programming
(¢ Consumer (iii) Regression
surplus
(d) Standard (iv) Input-output
error Analysis
Codes :
@ (®) () (@
A 6 @ @) G
® @ @ @) o
©) (@) @ @ ()
(D) @) @v) @) @)
66. The test for detection of heteroscedasticity

are :
(A) Spearman’s Rank Correlation Test
(B) Goldfield - Quandt Test

(C) Park Test

(D) All the above

65. Trfafaa w1 gafem =
e -1 g - 11
@) W—W (i) WERT Fege™
W .
(b) G (i) YT
(c) U A1 (iii) ST
CRA
(d) vumg Ffe (iv) eTe-yeT foreerm
e
@ (®) (9 (@
(A) @ @@ @) (i)
(B) (@) (i) Gv) ()
© (v) @) @ i)
(D) () (@v) @ ()
66. Tawm forenfer 1 war o & ader 2

(A) THRET & R Hegrary whe
(B) Ticefree F@ie wiam

(C) Tk 1 Tlteror

(D) Ul |t
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67.

68.

Durbin Watson test is inconclusive when 67.

the value of d falls between :
(A) d>0andd<dL

(B) d>duandd < {4-du
(C) d>@4-du)yandd <4
d>dL;d<duand

(D)

d>(4-du);d<(@d-dl)

20

If p= — 68.

q+1

and q = 3 then consumer’s surplus is :

(A) 12.73

(B) 13.73

(C) 1173

(D) 14.73

<fsfq areET Theu sifiEs war € 99
d I HME

(A) d>0wd<dL
(B) d>du W& d<(4-du)
(C) d>(4-du) THd<4
d>dL;d<du

(D)

d> (4-du);d<@4-dL)

T o =3 B A IueiveR F = S

(A) 12.73

(B) 13.73

(C) 11.73

(D) 14.73
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69.

70.

(A)

(B)

©

(D)

NAFED is the

dealing with the of selected

agricultural commodities.

(A) Cooperative ; procurement,
distribution and export

(B)  Public sector ; processing
(©)

Public sector ; distribution
(D) Cooperative ; processing
Identify the correct pair :

220 million
tons

Total Foodgrains -
production in
India in 2011-12

Gross capital - about 20%
formation in Indian

agriculture as

percentage of GDP

from agriculture

during 11t" plan

Per capita daily - 900 gr.
availability of food

grains in India

in 2011-12

Gross irrigated area - 65%

in India as % of total
sown area

organization

69.

70.

(4)

(B)

©

(D)

T & Y ey T g

(A) TEhR] Hee; wift, faawo iR g

(B) W &; HiHaw
(C) s &=; famro
(D) W& wishgu

Fﬁ'ﬁ"’?ﬁ@ﬁl’ﬁ:

2011-12 W 9 H
GrE 6 e
IR

11 off s % SR
ARG Y 9 b
e R st
Teha Uit fmfor

- 220 fafe=m =9

- S| 20%

2011-12 ¥ YR o - 900 T™
Q= i 9fd afer

EEXNECRI

FAPREITF % F - 65%
& Y H IRA § Hehol
fofaa &
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71.

72.

73.

What can you say about the following

statements ?

(a) Out of the total public sector plan
outlay during the 11t five year plan
in India, social services sector
received the highest allocation,
while the energy sector claimed the
second highest.

(b) The aggregate public sector outlay
of the 11t five year plan was about
¥ 75,50,000 cr.

Codes :

(A) Statement (a) is correct and
statement (b) is incorrect.

(B) Statement (a) is incorrect and
statement (b) is correct.

(C) Both the statements are incorrect.

(D) Both the statements are correct.

The essential feature of an arbitrage
transaction is that it is

(A) Non-speculative
(B) Speculative
(C) Limited to foreign exchange only

(D) Limited to commodities only

A business technique to avoid risk by
making a counteracting transaction is
called :

(A) Inflation planning

(B) Counter-trade

(C) Dumping

(D) Hedging

71.

72.

73.

Freferfaa st % fawg o o1 =1 w2

(a) 9Rd ¥ 11 off deErdia e % <R
Fel ek & T e W H @
QrITSTe Sl &1 %1 Ho S A
firen St St & W eTEed H qW
T TR @

by 11 df deeta e H SEsh &
¥F feu @ T 75,50,000 FHAS A
JrEe foRan T 9Tl

Ho (a) TEI & 3 B (b) T B |
(B) T (a) O § 3 FeM (b) T T

(C) T o T € |
(D) < T W €|
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74. What can you say about the following 74.

75.

statements ?

(@)

Since a monopolist is a price maker,
he can charge any price for his
product in the market.

(b) Since a monopolist is the sole seller
in the market, he always makes
huge profit.

Codes :

(A) Both the statements are incorrect

(B) Both the statements are correct

(C) Statement (a) is correct and
statement (b) is incorrect

(D) Statement (a) is incorrect and

“No player can gain anything by  75.

statement (b) is correct

changing his own strategy, presuming the
other player’s strategy unchanging”. This
statement best describes the :

(A)

(B)

©
(D)

Pareto equilibrium
Bertrand equilibrium
Nash equilibrium

Cournot equilibrium
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Note :

1. This Question Booklet contains 75 questions. Each question carries 2 marks. Answer all

questions.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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